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Question 26 (7 marks)

(@) Why do pigs produce less methane than cattle or sheep?

..................................................................................................................
....................................................................................................................
..............................................................................................................................

...............................................................................................................................

(b) Explain, using an example, how an animal’s feed can be adjusted to meet 4
changing energy and protein requirements.
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